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; 100kN/ M%E#B 2% - -~ -[3mEEZS -~ - -| 100kN/ Mm% %% - -~ -[3mERBZS ~ -
zh st 1.00 | 000 ~ 615 7712 | FhS | 0oo ~ 000 | 1.57 8.41 zhst 1.00 | 500 ~ 781 7712 | FhS | 500 ~ 781 1.567 841
2 100kN/m%HB %% -~ -|3mEBZD -~ -] 100kN/mM%E#BZ5 -~ -|3mEBAD ~
zh st 1.00 | 000 ~ 723 91.98 | N4 | 000 ~ 000\ 1.62 8.66 zhst 1.00 | 500 ~ 988 91.98 | ThlS | 5.00 ~ 9.88 | 1.62 8.66
3 100kN/M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mi%EBZ % ~ -[3mERBZS ~
zh st 1.00 | 0.00 ~ 710 90.23 | #n4 | 000 ~ 710\ 1.97 10.57 zhst 1.00 | 500 ~ 9.90 90.23 | TR | 500 ~ 9.90 | 1.97 10.57
4 100kN/m%E8Z5 | 1.00 | 000 ~ 001 100.13 |3mEBZS ~ -| 100kN/mMi%E8Z2 2| 1.00 | 1058 ~ 1060 100.13 |3mEEZ 3 ~
zhs 1.00 | 001 ~ 779 100.00 | #hs |o0oo ~ 7.79| 224 11.97 zhst 1.00 | 500 ~ 1058 100.00 | Fhs | 500 ~ 1060 2.24 11.97
5 100kN/mZz#8z25| 1.00 | 000 ~ 066 109.89 |3mEHBZD ~ -| 100kN/mMi%E8Z22 | 1.00 | 11.16 ~ 1347 109.89 |3mEEZ 3 ~
zhs 1.00 | 066 ~ 845 100.00 | £hs | 000 ~ 845|203 10.86 zhst 1.00 | 500 ~ 1116 100.00 | Fhs | 500 ~ 1347 203 10.86
6 100kN/m%HB %% ~ -|3mEBZD ~ -] 100kN/mM%E#BZ5 ~ -|3mEBAD ~
zh st ~ zh st ~ zh st ~ zh st ~
- 100kN/m%HB %% ~ -|3mEBZD ~ -] 100kN/mM#%E#BZ5 ~ -|3mEBAD ~
zh st ~ zh st ~ zh st ~ zh st ~
8 100kN/m%HB %% ~ -|3mEBZD ~ -] 100kN/mM#%E#BZ5 ~ -|3mEBAD ~
zhst ~ zh st ~ zh st ~ zh st ~
g 100kN/m%E8BZ5 | 1.00 | 000 ~ 115| 11729 |3mEBZD ~ -| 100kN/mM%EEZ5 | 1.00 | 1073 ~ 1423 117.29 |3mEEZ5B ~
zhs 1.00 | 1156 ~ 893 100.00 | £hs | 000 ~ 893| 229 12.25 zhst 1.00 | 500 ~ 1073 100.00 | Fhs | 500 ~ 1423 2.29 12.25
10 100kN/m%E8BZ5 | 1.00 | 000 ~ 048 107.13 |3mEBZD ~ -| 100kN/mMi%E8Z2 2| 1.00 | 1068 ~ 1200 10713 |3mEEZ3 ~
zhs 1.00 | 048 ~ 827 100.00 | Fhs | 0o ~ 827|228 12.18 zhst 1.00 | 500 ~ 1068 100.00 | Fhs | 500 ~ 1200| 2.28 12.18
11 100kN/m%E8BZ5 | 1.00 | 000 ~ 052 107.72 |3mEBZD ~ -| 100kN/mMi%E8Z2 2| 1.00 | 1053 ~ 1200 107.72 |3mEEZ 3 ~
zhs 1.00 | 052 ~ 831 100.00 | #hs | 0oo ~ 831|217 11.61 zh st 1.00 | 500 ~ 1053 100.00 | Fhds | 500 ~ 1200 2.17 11.61
12 100kN/m%E8Z5 | 1.00 | 000 ~ 041 106.00 |3mEBZS ~ -| 100kN/mMi%EEZ 2| 1.00 | 1078 ~ 1200 106.00 |3mEEZ 3 ~
zhs 1.00 | 041 ~ 819 100.00 | #hs | 000 ~ 819|208 11.15 zhst 1.00 | 500 ~ 1078 100.00 | Fhs | 500 ~ 1200| 2.08 11.15
13 100kN/M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mZEBZ % ~ -[3mEEBZS ~
zh st 1.00 | 000 ~ 713 90.67 | N4 | 000 ~ 713\ 1.96 10.49 zhst 1.00 | 500 ~ 1000 90.67 | S | 5,00 ~ 1000| 1.96 10.49
14 100kN/M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mi%EBZ % ~ -[3mERBAS ~
zh st 1.00 | 0.00 ~ 453 56.46 | NS | 000 ~ 000\ 1.57 8.38 zhst 1.00 | 500 ~ 5.00 56.46 | TR | 500 ~ 500 | 1.57 8.38
15 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mZEBZ % ~ -[3mERBAS ~
zh st 1.00 | 0.00 ~ 549 68.49 | Fn4S | 000 ~ 000 | 1.66 8.88 zhs 1.00 | 500 ~ 6.10 68.49 | Fn4 | 500 ~ 6.10| 1.66 8.88
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16 100kN/ M%E#B 2% - ~ -[3mEEZS -~ - -| 100kN/mMi%#8 2% - ~ -[3mERBZS ~ -
zh st 1.00 | 000 ~ 612 76.73 | FhS | 000 ~ 000 1.65 8.84 zhst 1.00 | 6.00 ~ 7.20 76.73 | EhS | 500 ~ 720| 1.65 8.84
I 100kN/ M%E#B 2% ~ -[3mEEZS -~ -| 100kN/mMi%#8 2% ~ -[3mERBZS ~
zh st 1.00 | 000 ~ 557 69.58 | NS | 000 ~ 000 | 1.64 8.77 zhst 1.00 | 5.00 ~ 6.30 69.58 | =hst | 500 ~ 630 | 1.64 877
18 100kN/M%E#B 2% ~ -[3mEEZS -~ -| 100kN/mMi%#8 2% ~ -[3mERBZS ~
zh st 1.00 | 0.00 ~ 565 70.63 | Fhs | 0.oo ~ 0.00| 1.60 8.58 zhst 1.00 | .00 ~ 6.60 70.63 | #hs | 5.00 ~ 6.60| 1.60 8.58
19 100kN/M%E#B A% ~ -[3mEEZS -~ -| 100kN/mMi%#8 2% ~ -[3mERBZS ~
zh st 1.00 | 000 ~ 518 64.53 | FnS | 000 ~ 000\ 1.67 8.95 zhst 1.00 | .00 ~ 5.60 64.53 | =hS | 500 ~ 560 | 1.67 8.95
20 100kN/M%E#B 2% ~ -[3mEEZS -~ -| 100kN/mMi%#8 2% ~ -[3mEEBZS ~
zh st 1.00 | 000 ~ 537 67.05 | FnR4S | 000 ~ 000 | 1.63 8.74 zhst 1.00 | 6.00 ~ 6.00 67.05 | =hds | 500 ~ 6.00| 1.63 874
27 100kN/ M%E#B 2% ~ -[3mEEZS -~ -| 100kN/mMi%#8 2% ~ -[3mERBAS ~
zh st 1.00 | 000 ~ 474 59.09 | #n4 | 000 ~ 000\ 1.66 8.91 zhst 1.00 | .00 ~ 5.00 59.09 | TnS | 500 ~ 5.00 | 1.66 8.91
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zhst ~ Zhust ~ Zh st ~ Zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zh st ~
100kN/M%E#B A% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zhst ~ Zhust ~ Zh st ~ Zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zhust ~ Zhust ~ Zh st ~ Zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAS ~
Zhust ~ Zhust ~ Zh st ~ Zh st ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zh st ~ Zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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